G J0 | abed £102/21/160

0006} $ - $ - $ - $ . $ - $| 00061 3 Anp - suoyun
000°9€ 3 - $ - $ - $ - $ - $ | ooo'oe B /G - UORNQUIUCYD JUBWIBINSY
000'00€ $ - $ - $ - $ z $ - $| ooo00e $ uorod ajels

000'160'Z $ z $ - $ - $ - $ - $| ooo't60z  $ G/1 - UORNQLILOO JUSWaIaY
000°0/1 $ - $ . $ . $ : $ - $| ooo'0zt $ xe} [[01Aed
000+ B : $ - $ - $ - $ - $| 0007F $ SI0US - [2oIpay
0000+ 3 - $ = 3 - $ = $ : $| o0oo0L $ s[eoisAyd - [eolpay
00. $ - $ = $ = $ & $ - $| o002 $ Bunsa) Brup - |eoipsy
00S'9LlL $ = $ - $ = $ = $ = $| 005'9LL $ dL0D SI9NJOM - SoURINSU|
000°LP9 $ = $ 5 $ - $ - $ = $] 00019 $ S)yaUaq - soueInsy|
000'81 $ z $ £ $ - $ - $ = $| o008l $ UBIOIUYOD] S|ElIS}E|\ SNOPIEZEH - SANUOU]
00’8 $ ] $ z $ d $ = $ = $| oo¥'g $ J9n2say Jajep uadp - sAnUddL|
008'9l 3 = $ = $ = $ - $ - $ 008'9L 3 JojetadQ jeog ali4 - 8A)USOU|
000's9 $ - $ - $ = $ * $ = $ 000'G9 $ Slpsweled - sAuadU|

S3IIAIOG |SULOSI

STUNLIANIAXI TVNNNY

Ser'Ler's $ - $ §G2'05 $ & $ - $ 000°G2 $| o0l9¢62's $ SANNIAIH TVNNNY TV.LOL
00t'L $ - $ 00%'L $ & $ . $ = $ 7 $ S9 - s994 e weibold pienbay Jounp
GGE'6Y $ ¥ $ GSE'6Y $ 2 $ = $ - $ - $ Sg - sea4 weibold pienbay Jounp
000'9} $ = $ - $ - $ = $ = $| 0009L 3 Sq - S19SSY JO 9|eS WOy SPeddold
00S $ = $ = $ - $ = $ = $| o0s $ S99 uonoadsuj-ay
008 $ T $ 5 $ s $ - $ = $| oo08 $ $994 UonoUN)|epy Wa)SAS wiey
G6.'9 $ - $ g $ : $ - $ - $| <69 $ anuanal buluiel] - |eaipapy
0S.'¥) $ & $ - $ B $ E $ - s oszvl S 23] MaIna) ueld
000'GL $ 5 $ = $ E $ = $ 000°G. $ 29} joedu)|
000'62 $ = $ - $ - $ - $ - $| o000'sz $ SJUBWISOAU| W0y SSO|/uleb paziesiun
000'9 $ s $ g $ = $ S $ 2 $| 0009 $ SJUSLUISAAUI WOy JSBISU|
(€8€'ZLL) $ - $ T $ a $ - $ = $| (ese'zLl) $ 93} 1009|100 Xe
(8g2'v8) $ - $ - $ 2 $ - $ - $| (88z'¥8) $ %S’} - Xe} pajos|jodun
(L£9°'961) $ G $ - $ - $ - $ = $| (129'061) S %G'€ SIUN0JSIQ
/91'619'G $ T $ = $ - $ = $ =t $ 191'6L9°G $ 000’} @ xe)} waiolea py

INNIATY TVYNNNY

186png 'jaid 19bpng |aid 18bpng "jaig 19bpng "|a1d 1abpng “jaig jabpng -jaig 1a9bpng “jaid
SANN4 71V TVLOL | pungjassy | pund prenbayiq ap puny ‘|[dwsun pung "dwog pung s34 joedwy pung jeisuas
8L02-1102 8L02-2102 8102-2102 8102-1102 8L02-2102 8102-110¢C 8102-2102

L10Z ‘0¢ Jaquiaydag Buipug Jea, [essi4 Jo4
2102/21/6 - Buleay job6png aAnejus |
1OI¥1SIA T0¥1INOD FHI4 NILS3Q



G J0 z abed Zioz/izLieo

00T'LL 3 = 3 = $ - $ - $ - $| 00Z'iL 3
002 $ = $ G $ = $ = $ - $| ooe $ uonas|s - puog
002 ¢ = g - $ - $ - $ = $| ooz $ 99ko|dws -puog
009 $ - $ - $ 5 $ - $ - $| o009 $ Aigesig
002 $ - $ - $ - $ - $ - $| ooz $ 2510021 UOHeUIW|S - JUBLAISY
000'92 $ - $ : $ - $ - $ - $| ooo0'9L $ Aungen jersusyAuadosd
aojuelnsu|
0S¥'Sy $ = $ = $ = $ - $ - $ | o0sv'sp $
0sL'e $ = $ = $ = $ & $ . $| osie $ Jalep
0052 $ - $ E $ = $ : $ 2 $| 005z $ auoyda|aL
00€’€ $ - $ - $ = $ ™ $ E $ 00€'e $ Se9
000'22 $ s $ 2 $ - $ - $ 7 $| 000'/2 $ Ayoupal3
006'¢ $ - $ = $ - $ - $ - $| oo6'c $ S1QeD
finn
000'8E $ = $ = $ = $ - $ - $ | o000'ge $
00.'L $ : $ z $ £ $ - $ : $| oozl $ Juswasibe (BO03JU] S0P [01)UOD dlye |
008'c $ - $ = $ = $ % $ - $ 008'S $ S99} S$9IIE UOIIEIIUNWLLOD OIpEY
006'22 $ - $ - $ = $ - $ = $ 00522 $ (90103s) UOIBASIUILLPY HIOMIBN
000'¥ $ - $ = $ - $ - $ - $| o000'v $ 10j0a.11p [eaIpawl Ajuno)
00S'S $ - $ = $ & $ - $ - $| 00S's $ |20 - Juswdinba suonedUNWWOY
00S $ = $ = $ = $ 2 $ < $| oos $ yojedsip [enusd
S92IAIAG JIBIJUOY
00S'Lpl $ - $ > $ = $ = $ = $] 005yl $
005'L $ - $ - $ = $ - $ - sl 00s2 $ S30IAIRS |BUOISSDJ0.d JaYI0
005'68 $ = $ - $ - $ s $ - $| 00s'68 $ 99} Jasieiddy Auadoig
000'GE $ > $ . $ F $ . $ - $| ooo‘se $ [ebs
005G 1 $ = $ = $ = $ - $ = $| oosst $ upny / Buunoooy
S3JIAI3S [BUOISSDJ0Id
006'7.9'G $ & $ = $ = $ = $ = $| 006'v/9's $
000'0% $ - $ = $ - $ = $ £ $| oo0o0'0or $ awpano Alojepuew - sabepp
00022 $ g $ - $ - $ E $ % $| o000'/2 $ awiano AInp - sabepp
005'Z $ - $ - 3§ - $ - $ - $| oosz $ Buluie 340 - sabepy
000'v} $ 00071 ¢ InoAed uonede A pue aAea| 32IS - sebepp
000'0€ $ - $ = $ - $ - $ - $| ooo0'oc 3 Ked 1eu0jSSIWILWIOD
00022 $ - $ s $ > $ = $ ~ $| ooozz $ Aepijoy - sabepp
000'9¥0'2 $ - $ - $ = $ = $ = $| oo00'9v0'C $ Kunoy - sabepp
(panunuod) sadlAIag |aUUOSIdd
18b6png *|1a.d 19bpng ‘|]3.1d 196png ‘a1 3abpng ‘|a1d 196png *1a.d 1ebpng "j3.1d 196png "ja.d
SANNS 7V TVLOL | Pundjassy | pung pienfay -ar | pung -jdwsun pung ‘dwop pung 934 joedwj pun4 |eisuan
8102-1L02 8102-1102 8102-2102 8102-2L02 8102-2102 8102-2102 8102-2102

2102 ‘0¢ Joquidydag Buipu3z 1eaj edsiy Jod
L102/21/6 - BuleaH jobpng aAnejua)
L1O1Y1SIa TO™LNOD 3Id NILS3A



G Jo ¢ abedq 210221160

280'eSe'L 3 280'8Ly  $ z $ 7 $ - $ 000'6€6 $ = $
000'0€L $| ooooel ¢ : $ 3 $ E $ - $ . $ S9I2IYBA
005’91 $| 00591 $ - $ - $ = $ # $ - $ aunyuind
00G'1€ $| o0g'1e $ = $ : $ . $ 2 $ 5 $ 18Y)0 - Juswdinb3
000'6 $| 0006 $ S $ ) $ s $ - $ 2 $ Hunybyail4 - Juswdinbz
0888} $| o888l $ i $ - 3 - $ 5 3 E $ s;9ndwog
00s'2Z1 $| ooszzL 8 g $ > $ g $ T $ r $ Jesg Jayung
20.'68 $| zol'es $ - $ . $ - $ - $ - $ sjuawanoidu buiping
00028 $ - $ E $ - $ . $ 000°/8 $ . $ sbujysiungauswdinbs - buiping
000'8¥8 $ 7 $ 7 $ - $ = $ 000'8¥8 $ & $ Buipiing
Kepno [epded
000'GH $] (L1¥'688) $ = $ = $ Z $ = $| Liv'pE9 $
= $] (1y'ess) ¢ = $ 2 $ = $ : $| 1iv'88S $ pund 1assy 0} Jajsuel |
00S'014 $ - $ - 3 - $ £ $ - $| oo0s0l $ suondudosqns pue seng
000°G}) $ . $ = $ = $ . $ - $| oo0's1 $ senp jew-zey
005’ $ § $ S $ = $ . $ 4 $| o0s'y $ buisiuaApy
000'GL $ e $ = $ = $ = $ * $| oo0'GL $ wsalp Jad pue buiuie |
Py10
G26'08 $ = $ % $ z $ = $ - $| sz6'08 $
008 $ = $ = $ - $ 5 $ - $| oo8 $ Buiuies] ¥do
000'G $ - $ - $ - $ - $ g $| oo0's $ juswdinba opswesed
00G'€ $ 2 $ = $ > $ . $ . $| oos'c $ Ja1do)
000'G $ - $ = $ = $ < $ 3 $| oo00s $ 9s0H
00S't $ 2 $ 7 $ 2 $ z $ - $| o0s'¥ $ 180q - |an4
000'2Z $ - $ - $ = $ ™ $ 2 $| o002z $ syonJ} - |9n4
GZL'S $ - $ - $ - 3 - $ - $| sci's $ uonuaald a4
000'G1L $ - $ = $ = $ - $ # $| 000Gl $ juswdinb3
005} $ 2 $ = $ - $ 2 $ g $| oos't $ SaNIANOY |BUOOWOId
005’8 $ " $ = $ 2 $ z $ » $| oo0s's $ U0
000'01L $ - $ £ $ z $ 2 $ = $| o000l $ uonels
sayddng
0sz'cl) $ - $ - $ - $ = $ 7 $| oszcll $
000'09 $ a $ = $ - $ s $ 2 $| 00009 $ S9I2IYIA
0S.') $ . $ = $ 5 $ = $ a $| o0sl') $ suonoadsul [eUae g JappeT
000'01 $ 2 $ = $ 2 $ = $ = $| 00001 $ wawdinbg
00S'ZL $ = $ = $ - $ 5 $ 5 $| 00S'ZL $ (sJemp1ey/poddns/sapesbdn) sioindwo)
000'81L $ . $ - $ - $ = $ = $| o000'8) $ buipjing
000'9 $ = $ 5 $ - $ - $ s $| 0009 $ leog
doueuajuiew pue Jieday
j1abpng "|aud 19bpng “|eid 1abpng "jeid 19bpng "jaid 1obpng “jeud 1obpng "|ald 3abpng “joag
SANN4 711V TvLOL | punjlassy | pung psenbay-ar | pung ‘[dwaun pung ‘dwoy pung 834 joedw pung [eJjauag
810Z-2102 810Z-2102 8102-2102 8102-210Z 8102-210Z 8102-2102 8102-210T

2102 ‘0¢ 1aqusydag Buipug Jea) jeasid Jo4
L10Z/ZL/6 - BunesH 106png aAnejua
LOIMLSIA TOHLNOD 314 NILS3a



G Jo ¢ abed £102/21/60
(2£9'660°¢) $| |ezeLzr $ - $ - $ : ¢ | |(ooo0'098) $ | |(996'0L¥2) ¢ IOVLYOHS/ADVIIANO
290°125°‘8 $| (ezeLlL) ¢ §51°0S $ - $ = $ 000°SE£6 $| 9g£9'90LL $ SIUNLIANIdXT TVNNNY V101
G5/.'0G $ S $ GG.'0G 3 B $ = $ = $ 2 $
C00'L $ - $ 000'L $ - $ - $ . $ - $ uonesuadwon) SISHIOM
00S'/1 $ - $ 00S°L1 $ - $ - $ - $ - $ sabep
000'9 $ * $ 0009 $ A $ H $ . $ - $ suuojun
000'¢ $ = $ 000 $ = $ = $ = $ E $ diysse|oyos
0S1L $ T $ 051 $ T $ = $ e $ = $ doueusuiely pue Jiedey
008 $ - $ 008 $ = $ i $ * $ % $ $894 |BjUSy
Sov'L $ - $ S0P°L $ - $ - $ - $ - $ xe] ||oJhed
08 $ - $ 05 $ . $ 5 $ 3 $ = $ asuadx3 aoyO
000'9 $ = $ 000'9 $ i $ = $ = $ = $ (sa101|0d JUspIOdY B /) SouUBINSU|
0GS $ = $ 0GS $ % $ = $ z $ e $ diyspseH
0058 $ - $ 005’8 $ = $ L $ * $ B $ suonadwo) pue sdii| piel4
0SL'L $ = $| osL'L $ - $ - $ - g - $ sal|ddng pue juswdinb3y
059 $ = $| 0s9 $ ¥ $ = $ . $ = $ S1s8 punoibyoeg pue bnig
00S'2 $ S $ 005'2 $ . $ = $ = $ i $ soz1d pue Auowsala)d
001 $ = $ 00l $ 2 $ = $ = $ = $ suoyd [I8D
00¥'L $ = $| oor'L $ = $ m $ 5 $ - $ bune}IEN pue BUISINaAPY
weiboud psenbaji Joune :fyajes yoeag
000'668 $ - $ - $ - $ S 3 = $| 000'G68 3
0L¥'LES $ = $ . $ - $ - $ - $| oiv'ies $ sabep
0002 $ = $ o $ 7 $ - $ = $ 0002 $ saiinn
089'G} $ i $ = $ % $ g $ = $ 089'G1L $ swiojiun
000's $ = $ = $ - $ S $ - $| oo00's $ xe} Juswhodwaun
0002 $ = $ - $ - $ - $ - $| oo0z $ Buures |
£59'0F $ » $ - $ - $ - $ - $| esoor $ xe} ||oJAed
290'v9 $ = $ = $ E $ = $ = $| 290'v9 $ syyeuag ||oJked
000'€ $ = $ - $ = $ - $ - $ | ooo'c $ W0
geL'es $ 3 $ Z $ v $ - $ = $| oci'es $ AIqel;dWoD SISXIOM-90UBINSU|
00S‘'2L $ - $ - $ - $ £ $ z $ 005'2 $ [CUE|
LE6'61 $ = $ 2 $ - $ - $ - $| ic6%61 $ sa||ddns juswdinb3
005'tZ $ : $ * $ = $ - $ - $] o00S'te $ soueuajUiEW pue Jiedas jJuawdinbg
002'c2 $ - $ = $ = $ & $ = $| oo0zZ'ez $ S99 pue seng
re'e $ = $ = $ = $ = $ = $| zve's $ s|eoIsAyd pue $1s9) punosbyoeg pue bniQ
0002 $ - $ - $ = $ 5 $ = $| o002 $ SSOIA3P UOJEDIUNWIWOD
085'06 $ = $ - $ - $ - $ = $| 08506 $ yuawdinba - uowisinboe |eyde)
_ _ saoinleg Ajajesg Yoeag :Ajajeg yoeag
19bpng *jeug 39bpng *|a.d 18bpng "ja.d 19bpng *ja1d }ebpng ‘|aid 1ebpng “|a1d 196png ‘jaid
SANN4 1V TVLOL | Ppundjassy | pung psenbay-ip | pung -jdwaun pung "dwo) pun4 a3 joedw) pund jeisuan
8L02-21L02 8102-1102 8102-2102 8102-1102 8102-1102 8102-2102 8102-2102

2102 ‘0¢ Jaquisydag Guipug Jeap [edsid Jog
L1L0Z/Z1I6 - Buneay ja6png aanejua]
1OIMLSIA TOHLNOD 3dId NILS3A



G Jo g obed

2102/chie0

0 $ = $ - $ 2 $ - $ - $l]o $ A9VLIYOHS/AOVHIAO 13N
996°'LeT’L $ = $ " $ = $ - $ & $]]9o96let ¢ spun4 paubisseun o asn
(6ce'LLL) sl |(62E'LLL) ¢ m $ - $ - $ 2 $ # $ spun4 paubissy Jo esn
000°'098 $ - $ - $ 2 $ 7 $ 000'098 $ . $ Spun4 pajou}say Jo asn
000'001 $ 5 $ s $ - $ # $ 3 $ | | ooo‘ool $ A9 - fgges yoeag 0} uonnquuo)
000'6.L $ a $ . $ . $ - $ - $ || coo'sLL $ 2dal - Alejes yoeeg 0} uoynguiucy
000'00€ $ - $ = $ . $ - $ - $ | | ooo'00e $ 91B]S - SpUN4 JUSWaIlSY O} UoHNGLIUOD
(2£9°660°¢) $| |6ze'L2L $ - $ - $ - $| [(000'098) $ | |[(e96‘0LY'?) ¢ IOVLYOHS/AOVYIAO
196png ‘jaid jebpng "jo.d jebpng "jaid 196png -ja.1d yebpng "jaid 39bpng *Jaid 196png ‘ja1d
SANNd 11V TVLOL | pungjessy | pung pienBoy-ap | pung |dwaun pung -dwop | pung aaqjoeduw) pund |esausn
8102-2102 8102-2L02 8102-2102 8102-1102 8102-2102 8102-21L02 8102-2102

L10Z ‘0¢ 49quiaydag Buipu3 Jea, |eosiq 10
L10Z/Z1i6 - Bulieay Jobpng aAnejua
LO141SIa TOYLINOD 3¥I4 NILS3A



